H & 0l & AHS B Ml A

T 20ilaF ZetalH &
CASE
HY2SAYI(ZAISEW)
IHARHHI(ZAISAD) 9 &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CAIESE L 8,379,455 8,945,976 566,521
= 571,959
Al 2,174,402
- 5,633,094
HY2EIHI(SAISR D) 340,769 405,733 AB4,964
QIHA2HH(CAISJ D) 313,025 377,497 NB4 472
QI 2HHI(ZAISE D) 313,025 377,497 N64, 472
101 @124H| 281,367 339,930 /58,563
03 BRA(RIH )22 U2+ 281,367 339,930 58,563
OENTHEJ(Z2D=HS 19) 46,224
—JlZ2=s 2,279,160« 18~ 128 27,350
—A2te|=&
12,8672 *1.5x30A 2t 18«12 6,949
—oixiga4g
12,8672 +BAI 2Hx1H %102 1,030
—=4| 140,000& x 12+ 123 1,680
—SEFOHI 2,734,980 1 2,735
—gd2=+¢ 2,279,160&x1H 2,280
—sd2=yl 70,0002 x 18 x 12 840
—fg= 140,0002~ 1+ 122 1,680
—ItEE 80,0003 1 » 128 960
—&2otet= 60,0002 x 1 * 122 720
OAldS2e|d (& 49) 235,143
—Jl2= 2,373,923 «4H 1238 113,949
— A=
14,0863 *1.5x20A| 2Hx4F « 128 20,284
— X234
14,0862 xBA| 2H*4 S x 15 6,762
—sgae4y
14,0862 *1.5+8 Al 24 B +60 40,568
—=4| 140,000& x4+ 128 6,720
—SEFOHI 2,848, 700& x4H 11,39
—gd2=+¢ 2,266, 1108 x4H 9,065
—d2ohts 75,0002 x4 * 122 3,600
—sy22l 70,0008 x4 x 122 3,360
—==H| 120,000& x4« 123 5,760
—Ag=E 140,000& x4~ 123 6.720
—JIE2g 120,000 x4~ 122 5,760
— Ay 50,0002 x2& 122 1,200
M4 HASFEESS 31,658 37,567 /5,909
M SRA(RIHL) 22X BEERE=3 S 31,658 9,011 22,647
OENCHEH(Z2nsHS 19) 5,202
—3288= 46,224,000 *4.. 5% 2,081
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A ZAISEL
. BDSRR YL ABEA
ol =S2 ZUE 22 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—RER= 250,000 122 3,000
—HIISXMEREs S 500,000 500
307 @120l & 125,000 123,000 2,000
05 git?(& = 125,000 123,000 2,000
O=sgRsZl= 8H 89 110,000
—2YRSZDS Tl 89
100,000,000 100,000
—2¥ 29202 H)I2H2 9
10,000,000 10,000
O=0lgls 2H A
10,000,000& 10,000
OfgZlls dyiasl
400,000 57K A 2,000
OS9ZINS IFFAYD (a2
20,0003 %1502 3,000
308 AtXIEMSOIE 6,592 7,954 1,362
11 S 2S0UeB S HASAEY 6,592 7,954 A1,362
O =ZAFAHAU 282
6.,592,000& 6,592
& X4 1,014,800 29,800 985,000
Al 1,000,000
T 14,800
da & 2B 14,800 29,800 A15,000
201 er23| 4,800 4,800 0
2 s5=34l 4,800 4,800 0
Os88= 4,800
—MIR3(IEA FH JAXEE)
300,000& * 128 3,600
—SAHI(CCTV) 100,000 *1CH* 122 1,200
401 Al HIZL 01| 10,000 25,000 A15,000
01 Al&H| 10,000 25,000 15,000
OATE Z2ZAH & =AIEHIHI
10,000,000 10,000
ol Al =252 =8 MY 1,000,000 0 1,000,000
Al 1,000,000
401 Al HIZL 201 1,000,000 0 1,000,000
Al 1,000,000
01 AlZ8| 1,000,000 0 1,000,000
OdtsZAl =252 =4 At
1,000,000,000& 1,000,000
Al 1,000,000
2i=el E3tel e At 100,000 100,000
el=el S3el e At 100,000 100,000
401 AIEHIZ SR OHYI 100,000 100,000




2A:

E M

SAISE L

Zos2el & 22y

Chelr 2= E3t)el e At (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 100,000 0 100,000
/=0 E3tiel HEAY
100,000,000 100,000
SE =2 1,900,5% 3,891,429 1,981,833
Sa=A 22 1,716,668 3,590,950 1,874,282
SE=A ;A2 844,668 1,240,385 A3B, 717
201 2egh=3| 63,900 54,930 8,970
01 Al222lH] 2,500 2,250 250
OLer+EH| 2,500
—zePE 228 WX
70,0002 * 100K 700
—HRE g7 300,000& 300
—F2s =g 100,000 *5& *33] 1,500
2 352484l 61,400 52,680 8,720
O=32= # HAl 61,400
-3 dJIeks 3,000,000& *12& 36,000
—3¥ Yotk =
2,000,000 128 24,000
—Hgd Stes 116,660« 12& 1,400
203 HR=H] 950 950
03 A=A R =AH] 950 950
OSH=A AlIH =& 1,000,000 *95% 950
308 AXIMSO0IA 779,818 1,180,473 A400,655
11 S| 2S04 ASAIE 779,818 1,180,473 A400,655
O3l gF WeAIZYI
779,818,000& 779,818
SE=X =AIEHIA 120,000 100,000 20,000
401 AIEHIZ SR HYI 120,000 100,000 20,000
01 Al&H| 120,000 100,000 20,000
S =AIEHIALY
120,000,000 120,000
SE=A gAY HEEY 60,000 47,000 13,000
307 elztol & 60,000 47,000 13,000
05 2I2tRIE =S 60,000 47,000 13,000
OSE=A YR HEES
60,000,000 60,000
SE=X FHAIE HUIAH 200,000 100,000 100,000
401 AIEHIZ SR OHYI 200,000 100,000 100,000
01 Al&HI 200,000 100,000 100,000
OS8=X FHAIE SHIA
200,000,000 200,000
OIEtAIEl AIZ S HHIALY 100,000 0 100,000
401 Al HIZ 2018 100,000 100,000
01 Al&H| 100,000 100,000




SH: CAZED
M ZR=K2e
&t =K =A2el (EEEE))
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OOIHAIEl S|012 EUIAIZ
100,000,000& 100,000
otsM=Z2 H0IF T4EAY 200,000 200,000
401 A& B2 20HY| 200,000 200,000
01 Al&HI 200,000 200,000
OctsHsSd H0I ZdAH
200,000,000 200,000
e Z ADNR RAAY 22,000 0 22,000
401 AIEHIZL20HbI 22,000 22,000
01 AlEHI 22,000 22,000
Oz ADHE X4 AFY AAIEAIHI
22,000,000& 22,000
2e2eES2 A 120,000 120,000
401 A& B 20HY| 120,000 120,000
01 Al&HI 120,000 120,000
O2g2e 33 At
120,000,000& 120,000
olsX=ESE W SAHAE XA 50,000 0 50,000
401 Al HIZL S 0HY| 50,000 50,000
01 AlEHI 50,000 50,000
OSt=sH=32 W FHAE XA (=2
ZHO1 04l AF) 50,000,000& 50,000
SFCg MEss2 23 192,928 300,479 A107,551
ST MEfsis2 29 192,928 201,001 8,073
201 L2 AY| 11,588 18,168 26,580
01 At=R2teld| 7,244 13,824 6,580
Oget=2H| 3,470
—AgDIs& 24 2,3002 1604123 442
— SN 628,000 628
—MEfsIS2 242182 2
2,400,000& 2,400
Oodxt=z 3,774
-8 itz 98,0003 *1CH* 123 1,176
—3J|8E)| Xtz 166,030& x 123 1,993
—QIgHYR=a XI&E 50,4002 x12& 605
02 3324l 4,344 4,344 0
OAIEEHISXIY| 4,344
—BOoAIE(MZ) =2 1,848,000& 1,848
—AdotMate| U2
1,440,000& 1,440
—&JetN e U2
1,056,000& 1,056
307 212+01™ 150,000 150,000
05 QIZIRIErZ 150,000 150,000




2A:

CAISAL

M zel=T2e
el FEE dussa 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSCeldpsan 22 1g =aAe
150,000, 0002 150,000
401 Al HIYL S CHYI 30,000 30,000
01 AlZH| 30,000 30,000
OdtHstsd +=Aldultl 30,000,000 30,000
405 AtatE = 1,340 2,833 1,493
01 Tt =S F=HI 1,340 2,833 A1,493
Odtsts2 Tt & 23 S 1,340
—=dS MY 360,000 *1H 360
—=4& oA 150,000 *4H 600
—HIAI 2 380,000 380
AHItset agita &d 4,871,630 4,421,892 449,738
= 571,959
Al 1,174,402
- 3,125,269
tExd & 25 1,891,716 2,925,480 1,033,764
= 571,959
Al 416,402
- 903,355
ASEXICHEY THEHAME 2| (4 4,125 4,125 0
= 1,650
Al 743
- 1,732
201 eer23y| 2,303 2,303 0
= 921
Al 415
- 967
01 At2teltl 2,303 2,303 0
Ott=28 st g4I 2,303,000& 2,303
= 921
Al 415
- 967
202 04l 1,822 1,822 0
= 729
Al 328
- 765
01 2LHoIH 1,822 1,822 0
Ott=sd 2304l 1,822,000& 1,822
= 729
Al 328
- 765
LS EEXICHE THEHAME 2Rl (XH2) 2,045 2,045 0
= 818




2A:

ZM: 2Ihse AANE X
oSl MEZH U 85 (ol m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 368
T 859
201 er23| 2,045 2,045 0
= 818
Al 368
- 859
2 S52g4l 2,045 2,045 0
OLEZAIE AR ZHAIAE
2,045,000 2,045
= 818
Al 368
- 859
LSO ZISEH &S (H4) 15,267 15,267 0
= 6,107
Al 2,748
- 6,412
405 KHaHE SH 15,267 15,267 0
= 6,107
Al 2,748
- 6,412
01 IR ESFISHI 15,267 15,267 0
O &I B &I 1,090,500 * 144 15,267
= 6,107
Al 2,748
- 6,412
AEUXN N RESMU2S(XH2) 5,000 0 5,000
= 2,000
Al 900
- 2,100
405 KHoHF S| 5,000 0 5,000
= 2,000
Al 900
T 2,100
01 It =S F=H 5,000 0 5,000
ORdsSMUEH(TINE)
5,000, 0002 1SET 5,000
= 2,000
Al 900
T 2,100
AETHSH Rt EDI(AS X 20L& StTH) 221,777 207,694 14,083
= 88,711
Al 39,920
T 93,146




2A:

ZM: 2Ihse AANE X
el AREES U 25 (ol m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
101 @124H| 215,889 196,217 19,672
= 86,356
Al 38,860
- 90,673
M ORNZZ2NSE S 215,889 196,217 19,672
Ottsd=Zu el lAt|
210,289,000 210,289
= 84,116
Al 37,852
- 88,321
OL=LXSAA 225
400,000 14H 5,600
= 2,240
Al 1,008
- 2,352
201 er23 | 5,888 1,477 25,589
= 2,3%
Al 1,060
- 2,473
01 AtR2t2lt] 4,811 1,477 A\6,666
OU = ESHE SRz
4,811,000 =104 4,811
= 1,924
Al 866
- 2,021
2 35244l 1,077 0 1,077
OU = ZESIHE FFHI
1,077,000 *1CH 1,077
= 431
Al 194
- 452
LotH S Xl 58,564 56,524 2,040
= 31,583
Al 7,626
- 19,35
401 AlEHIZL SO 58,564 56,524 2,040
= 31,583
Al 7,626
- 19,35
01 AlZ8| 58,564 56,524 2,040
Odtgigoi S (Lot S) LR
58,564,000 58,564
= 31,583
Al 7,626




2A:

X XH -
o=

o9l dERd & EER-E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 19,355
442 =38 N2 5,000 5,000 0
= 2,500
Al 750
- 1,750
401 AlEHIZ S 0HbI 5,000 5,000 0
= 2,500
Al 750
- 1,750
01 Al&H| 5,000 5,000 0
odgd +3dz Xd 5,000,000& 5,000
= 2,500
Al 750
T 1,750
AURTHESE LHI(0ILLHRFAL 14,964 14,328 636
= 12,213
Al 825
- 1,926
401 Al HIZL 01| 14,964 14,328 636
= 12,213
Al 825
- 1,926
01 Al&HI 14,964 14,328 636
OAURMESYE LM (ZLIRFAL
14,964,000 14,964
= 12,213
Al 825
- 1,926
2Es REHOISHSES 45,620 43,780 1,840
= 22,810
Al 6.843
- 15,967
101 21AH| 43,620 41,780 1,840
= 21,810
Al 6,543
- 16,267
04 JIZtN2Z2 XS+ 43,620 41,780 1,840
Ozgs FHOISHER 212
21,810,000 »2& 43,620
= 21,810
Al 6,543
- 16,267
201 fet=3| 2,000 2,000 0




2A:

X XH -
o=

chl: E] (=CR-E))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,000
Al 300
- 700
01 AtR2t2|HI 2,000 2,000 0
OZgs fHIISHEH 23|
2,000,000 2,000
= 1,000
Al 300
- 700
SHALERF XS K89 e =Y 1,000 1,000
201 =3 1,000 1,000
01 AtR2t2lt] 1,000 1,000
OLAIEIFH XS K8 9d SA+g
100,000& *12|*10H 1,000
AFAFEHF 2t X S 2t (AFZAL) 40,500 0 40,500
= 28,350
Al 8,505
- 3,645
401 AlEHIZL SO 40,500 0 40,500
= 28,350
Al 8,505
- 3,645
01 Al&HI 40,500 0 40,500
O&LRIAFZEAFS 40,500,000 40,500
= 28,350
Al 8,505
- 3,645
OIAIZHA S=IH] 406,800 135,600 271,200
= 203,400
Al 61,020
- 142,380
401 AlZHIZ SO 406,800 135,600 271,200
= 203,400
Al 61,020
- 142,380
01 AlZH| 406,800 135,600 271,200
O0IMSXINZ SA=IHRI A
406,800,000 406,800
= 203,400
Al 61,020
- 142,380
=L XL (X2)(HEALY) 200,000 200,000 0
Al 130,000
- 70,000




A TAISE
g NHtss M8 =4
el M Y 25 (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 AlZHIZL SO 200,000 200,000 0
Al 130,000
- 70,000
01 Al&H| 200,000 200,000 0
O=Z(S42) ZHIAY 200,000,000& 200,000
Al 130,000
- 70,000
AEMHIAZR0l 28 X3 (HEAY) 85,962 22,228 63,734
Al 55,875
- 30,087
101 @124H| 85,962 22,228 63,734
Al 55,875
T 30,087
M JIZtHZ22 S 2 85,962 22,228 63,734
OMENHIAZS0 |( USATTA
28,654,000 18 28,654
Al 18,625
- 10,029
OUSEMHIAERDI(ZAI=XIZR)
28,654,000 x2& 57,308
Al 37,250
- 20,058
=B NEE L 55,382 49,880 5,502
201 Ler23| 34,432 28,930 5,502
01 AlR 21| 10,870 9,368 1,502
OEICIER=T] 7,370
— s 2Ee X
70,0002 400K 2,800
—dtg2e] 257 300,000&* 122 3,600
—atgzte] Mg SF(50L) 7L
1,540 2001~ 123 370
- A= 600,000 600
On=ti(atgd2eld)
150,000 23| +5& 1,500
O Xtz (& 500,000& *42] 2,000
02 s5=34l 23,562 19,562 4,000
Os&8R= 4,762
—&E AlE &Jles 300,000 * 12 3,600
—CCTV Sl 96,8002 «12& 1,162
OAE E RISl 5,800
-2 AMES RAE=s
5,000,000& 5,000
—JIAZH RF 2,0003 #5501 =30 300
—J|HAEHl |l 500,000& 500

_11_




2A:

g NHtss M8 =4
ool JExd 2 ES (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXtgrset] 13,000
—AESE 2,500, 0002 «3CH 7,500
—U=SHsSXH 2,500,000 *1CH 2,500
— & RIRE 1,000,000 «3CH 3,000
203 HR=H] 950 950
03 A=A R =] 950 950
Odtglaie] g2 =4 1,000,000 95% 950
206 Tl 20,000 20,000
01 EH 20,000 20,000
OZFAXM(BIR, &R S) 7
20,000,000 20,000
SttE d 2t 50,000 50,000
401 AIEHIZ SR OHYI 50,000 50,000
01 Al&HI 50,000 50,000
O==AlIEHIbI 50,000,000 50,000
HMRA FAAE ZHAY 6,000 0 6,000
401 Al HIZL 01| 6,000 6,000
01 Al&H| 6,000 6,000
OH2A SAAE ZEAY AL
6,000,000& 6,000
Lo SeZ HIEO0IAE XA 30,000 0 30,000
401 Al HIZ S OHbI 30,000 30,000
01 A28l 30,000 30,000
ORc SHZ HXE0IAE XS (F
BIEOI 0l &) 15,000,000 »2CH 30,000
Fggu=0Esd 380 0 380
= 152
Al 114
- 114
201 et 3| 380 0 380
= 152
Al 114
- 114
01 AtR2t2|HI 380 0 380
OLrefet dAtE 20l 380,000& 124 380
= 152
Al 114
- 114
FoT ofettlaZ =2+ AMY 300,000 300,000
401 Al HIZ S OHbI 300,000 300,000
01 AlZ2H| 300,000 300,000
ORo L offettlaZ =2+ Al
300,000,000 300,000




A ZAISEL
ZM: 2Ihse AANE X
el AREES U 25 (ol m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Aty dgls AR 200,000 400,000 A.200,000
= 100,000
Al 50,000
- 50,000
401 AlEHIZL SO 200,000 400,000 A200,000
= 100,000
Al 50,000
- 50,000
01 AlZ28| 200,000 400,000 A.200,000
OXtH et Oels ZEAY
200,000,000 200,000
= 100,000
Al 50,000
- 50,000
R0tz 29 2l 85,998 79,428 6,570
= 42,999
Al 30,099
- 12,900
307 @120l & 85,998 79,428 6,570
= 42,999
Al 30,099
- 12,900
05 212t =S 85,998 79,428 6,570
OR0tz 222 (KOIEXZAL
85,998,000 85,998
= 42,999
Al 30,099
- 12,900
=olle 29 2el 57,332 52,952 4,380
= 28,666
Al 20,066
- 8,600
307 elztol & 57,332 52,952 4,380
= 28,666
Al 20,066
T 8,600
05 21t =2 57,332 52,952 4,380
Osdlid 2d2el(=diet)
57,332,000& 57,332
= 28,666
Al 20,066
- 8,600
SRMe 25X 2| 5,000 5,000 0
RN 22H 2 5,000 5,000




SA: SAIS3 D
=8

SRS NEDNEY)

=l %%XI:ZBI Egﬁ 2t (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 5,000 5,000
01 At2teltl 5,000 5,000
OB B2IS 98t NRED 42
2,500,000 *23] 5,000
CAlsg 2d 2 o2ed 2,974,914 1,491,412 1,483,502
Al 758,000
- 2,216,914
TA=3 =d 22,400 22,400
201 =3 2,400 2,400
01 At22t2l] 2,400 2,400
O= gl 2,400
— A SEAL Z0IAE DA
8,0003 %13 %150 1,200
—RH & A FOX OHAHI
8,000& »12]x150H 1,200
206 M=l 20,000 20,000
01 M= HI 20,000 20,000
Oa=g dAE =5 7Y
5,000&*2,000= 10,000
OUR LIFU=I] &AL
5,0008%2,000== 10,000
CAl=s |fX2el 14,514 19,012 A4,498
201 fet= 3| 14,514 19,012 N4,498
01 AtR2t2|HI 7,638 9,136 A1,498
Oget=EH| 6,978
—CAIsEIRA2e 222 M
70,0002 = 100K 700
—CAISsERA2e 2 2
500,000 x 122 6,000
—SAIsEIRIZe X0 S5 7Y
1,540 1501~ 122 278
OYxtz (SAZelA ==1)
55,000 * 122 660
2 35234l 6,876 9,876 A3,000
Os&8R= 3,876
—=XZelAL MRS
150,000 «12& 1,800
—=XZeA =23
100,000& «12& 1,200
—SEX] SRS 33,0002~ 12 3%
—SEX] =ER=s 10,0003 * 122 120
—=282] ML= 30,0002 ~12& 360
OAlZ EHIs Xl 3,000
—TAl=szgt2e] JIHEE] RS0
250,000& 122 3,000
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2A:

X XH -
o=

=Rl ZAIsS &y 2 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Jtl2=Xl Lat2e|SAt 1,110,000 1,100,000 10,000
401 Al HIZL 201 1,110,000 1,100,000 10,000
01 Al&HI 1,110,000 1,100,000 10,000
OE=il =58 & 2cISAt
210,000,000 210,000
o=l & &8 dAl2e] 89
150,000,000 150,000
OJZ=X HaHE LHBM
300,000,000 300,000
OIZ=RA MZ=SA 400,000,000& 400,000
=AlZHIHl 50,000,000 50,000
24 HRISAH 150,000 150,000
401 AIEHIZL SR THY] 150,000 150,000
01 Al&HI 150,000 150,000
OJt2a HXISA 150,000,000 150,000
iz A= WESA 100,000 100,000 0
401 Al HIZL 01| 100,000 100,000
01 Al&H| 100,000 100,000
Otz 452 HESA
100,000,000 100,000
2= 24 ZA 70,000 100,000 30,000
401 Al HIZ S OHHI 70,000 100,000 30,000
01 A28l 70,000 100,000 /30,000
Otz 24 ZAt 70,000,000 70,000
22 JHHAel HtE2+E ZEAY 1,500,000 0 1,500,000
Al 750,000
- 750,000
401 Al HIZL 201 1,500,000 0 1,500,000
Al 750,000
- 750,000
01 Al&H| 1,500,000 0 1,500,000
2= JtHAel HEsd XA
1,500,000,000& 1,500,000
Al 750,000
- 750,000
OISt 22 2t=J| Atg 8,000 0 8,000
Al 8,000
401 A& HIX R0 8,000 0 8,000
Al 8,000
01 Al&H| 8,000 0 8,000
OOtSChz 22 2SI A (FLXXIEE
=IO 0 &H(H)) 8,000,000& 8,000
Al 8,000
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